FABMOTOR INDUCTION MOTOR SERIES
EC /B2 [5K 8 BE B 15K

FABMOTOR
Features of FABMOTOR Series

FABMOTOR %5Zmi514

* EBIEIS  AIEBIE—RERORET BRARZEEXREISAT -
Compact structure: integrated brake structure is applied to
restricted space.

* SIRE - Bk ' FIEREBRER-BENRET - BEY
Xe EeRENFIE TEE N  dRFRSH > 8ERE
HEERI A o
High frequency, long service life: integrated design of
braking plate and cooling fan can get advantages of long
service life and maintenance-free during high frequency
brake operation.

* SENRE  RAEOXRENSYCFORME oS ERE
> ERREEREAE -
Advanced specification: high efficient non-asbestos
materials imported for Japan is durable to high frequency
operation, low wearing rate and pollution-free.

#IEEEEIEE Cross Section of Magnetic Brake System :

KPR Air Gap
—

3 NO. ZH2E Name of Parts
1 |FEZR (MIRIEEARREE ) |Bracket (Brake coil included)
; 2 | RIERSH Brake Lining
3 5E Fan
> 4 |FREEIR4A Adjusting Screw
5 |RNAEHA Hex Socket Cap Screw
A 6 |EhEEE Bearing Cover
: 7 ERL Shaft
. | 8 |HEhEX Bearing
| 9 |MrESE Tray-Type Spring
A : 10 SEEH Spring Pin
! 11 |BRAEEE Compression Spring
S i 12 |EFE+E4% Philips Pan Head Screw
A 13 SNSAR44 Hex Head Cap Screw
o 14 |BEET Spring Washer
15 |BE Fan Guard

M1



EEXEEZEE FABMOTOR INDUCTION MOTOR SERIES

B 1ZFE R Standard Specification Table

#8118 Specification
I5H Item 1E# 3R Standard Specification

& 8 Type —HER BTN FEE ¥ Three-Phase Squirrel Cage Induction Motor
2P :1/4~25HP -

@S0 Output Power AEVF/AEEF 4P :1/4~20HP ETVF/ETEF 4P :1/4~5HP
6P :1/4HP~15HP 6P 1/4HP~3HP

&  [E Voltage %HEE B Rated Voltage 220V ~ 380V

$8  # Frequency XATESEZE Rated Frequency 50Hz * 60Hz

fRE7 I Protection Type |IP54: £Z{IMNREEL Totally Enclosed Fan Type
<Al Cooling Type  |IC411: BB INE LA Total Enclosed Fan Cooling
AEVF/ETVF : (h#gBiZ2 4 Flange Mounted
AEEF/ETEF : /K HIEEZ %5 Horizontal Feet Mounted
B12E4R Insulation Class |B #k B Grade

Z# 7 Mounting Type

® % Painting iR IE - BpIAEIEA ~ #0R Antirust treatment, primerpainting of phenol and surface enamel painting.
By 7 Bearing BIETHiET EREZEEIkE A Dual cover enclosed ball bearings with grease injected beforehand.
# A Applicable
5B Item 1E#EFREE Standard Specification
%  FT Location BA > BEE B R TE K EERESS Indoor; the product should be installed on flat and solid foundation.
B B Altitude S8 1000 AR LT Under 1000m height above sea level.
= E  Humidity BEEE 80% LT Relative Humidity MAX. 80%
= @ Ambient Temperature |-15C ~40C

BEEEIE 1 110% LA Voltage Deviationd : MAX. £10%

& R Power Source -
PR BN 1 15% LI Voltage Deviationd : MAX. 5%
# [@ Rotation Wise € #(3) Dual Rotation Wise
B E 7 Start Form B EREREIE Y - A BUE) Full voltage direct startor Y - A start.

M 7B 4514 3R Brake Character List

» 4 1R 4-Pole 1/4 1/2 1 2 3 5
#i i Output (HP)
6 & 6-Pole - 1/4 1/2 1 2 3
HES% Frame No. 63 71 80 90L 100L 112M
EAE b Rated torque (Nm) 2 4 8 15 30 40
K5I Suction time (ms) 30 30 60 90 90 80
EM R Release time (ms) 80 100 120 140 150 100
P R EfE Specified value 0.3 0.3 0.3 04 0.4 0.5
SR Air Gap (mm)
BRXE{E Limited value 0.7 0.7 1.0 1.0 1.0 1.2

& LIMING M2



FABMOTOR INDUCTION MOTOR SERIES
EC /B2 [5K 8 BE B 15K

M 45143 Character List

220V, 3@ 60Hz

&t Output 1ESE mE 451 Full Load Character RiEN%514 Starting Character| g K #84E (%)| BFiEE

Frame ME (%) | WEEE (%) |BF (AMP)| 5 (%) | B (AMP) | _MAX. (kg-m’)

No. Torque | Efficiency | Power Factor | Current Torque Current Torque Interia

2 3260 63 0.054 61 77 0.82 400 6 370 0.002

0.25 018 4 1610 63 0.110 65 76 0.95 250 6 240 0.002

6 1110 71 0.162 64 60 1.3 260 6 290 0.007

2 3335 71 0.105 75 86 1.5 340 12 310 0.002

05 037 4 1645 71 0.213 73 74 2.0 200 12 250 0.005

6 1115 80 0.320 68 67 2.2 200 12 240 0.009

2 3330 80 0.213 77 87 2.9 220 19 280 0.005

1 075 4 1710 80 0.427 75 74 34 250 19 280 0.009

6 1120 90L 0.635 76 71 3.6 200 19 240 0.017

2 3355 90L 0.422 80 89 5.5 250 40 280 0.010

2 15 4 1685 90L 0.845 79 81 6.1 220 40 280 0.017

6 1120 100L 1.273 78 74 6.8 180 40 220 0.033

2 3385 90L 0.630 82 89 8.1 230 68 280 0.015

3 22 4 1700/ 100L 1.235 81 81 8.5 210 68 260 0.033

6 1135 112M 1.877 82 77 11.8 180 68 270 0.059

2 3415 112M 1.041 84.5 90 12.9 240 110 340 0.038

5 37 4 1750 112M 2.050 85 75 15.0 220 110 300 0.059

6 1135 132S 3.128 84 77 17.0 180 110 230 0.151

2 3435 132S 1.550 90 90 19.2 220 160 260 0.063

75 55 4 1715 132S 3111 83 84 201 230 160 280 0.104

6 1135 132M 4.689 76 77.5 22.3 200 160 230 0.217

2 3440 1328 2.068 90 90 25.1 200 200 270 0.076

10 75 4 1715 132M 4.145 88 88 251 220 200 250 0.143

6 1150 160M 6.178 79 80 28.1 280 200 300 0.400

2 3470 160M 3.076 90 90 371 220 290 300 0.147

15 N 4 1725 160M 6.183 88 89 36.7 220 290 250 0.297

6 1145 160L 9.306 84 84 39.1 240 290 260 0.588

2 3450 160M 4120 90 91 48.1 210 360 260 0.183

2011 4 1725 160L 8.248 86 86 50.3 230 360 260 0.381

25 185 2 3520 160L 5.120 89 87 62.0 230 480 250 0.225
1. PAEBAERERERE. 1. The above the nominal representative value of the measured value.

2. M EHEEREE  BASTEH - 2. The above mentioned value subject to change without notice.

M3



EEXEEZEE FABMOTOR INDUCTION MOTOR SERIES

M 45143 Character List

380V, 3@ 50Hz
#itt Output 1EE jmE451E Full Load Character RAEN4F1E Starting Character| R x84 (%)| BT i1E=
Frame MR (%) | W3 ) =7 (AMP) | 84 (%) MAX. (kg-m?)
No. Torque | Efficiency | Power Factor | Current Torque Current Torque Interia
2 2670 63 0.062 71 76.5 0.53 400 3.5 330 0.002
0.25 018 4 1320 63 0.125 62 68.5 0.65 220 3.5 240 0.002
6 | 900 71 0.198 52 60 0.79 260 3.5 270 0.007
2 2760 71 0.127 78 85 0.89 320 6 280 0.002
05 037 4 1345 71 0.245 72 73 1.24 200 6 230 0.005
6 910 80 0.389 57 67 1.34 200 6 230 0.009
2 2745 80 0.259 77.5 78 1.90 220 1 280 0.005
1 075 4 1370 80 0.518 75 73 2.13 250 1 280 0.009
6 930 90L 0.764 61 70 2.28 190 1 230 0.017
2 2785 90L 0.511 82 82 3.4 250 23 280 0.010
2 15 4 1375 90L 1.036 85 66 4.0 220 23 280 0.017
6 910 100L 1.561 74 45 6.7 180 23 220 0.033
2 2790 90L 0.765 83 85 4.6 250 38 280 0.015
3 22 4 1405 100L 1.515 81 73 5.6 210 38 260 0.033
6 935 112M 2.280 84 50 7.8 180 38 230 0.059
2 2820 112M 1.258 84 83 7.7 240 63 320 0.038
5 37 4 1415 112M 2.512 80 64 11.0 220 63 290 0.059
6 940 132S 3.780 65.5 75.5 9.15 180 63 230 0.151
2 2845 132S 1.872 86.5 88.5 111 210 92 260 0.062
75 55 4 1415 1328 3.765 86 82.5 12.0 220 92 280 0.104
6 940  132M 5.671 84.5 77.5 13.0 200 92 230 0.216
2 2850 132S 2.494 88.5 88.5 14.5 200 115 250 0.076
10 75 4 1420 132M 5.006 87.5 85.5 15.2 220 115 250 0.142
6 955 160M 7.445 86 80 16.5 270 115 300 0.4
2 2880 160M 3.701 88.5 90 21.3 210 168 290 0.146
15 N 4 1430 160M 7.455 89.5 88 21.6 220 168 250 0.297
6 950 160L 11.225 88.5 84 22.9 220 168 260 0.588
2 2860 160M 4.970 90 91 27.7 210 207 260 0.183
20| 15 4 1435 160L 9.907 90.5 88.5 28.3 230 207 260 0.380
25 185 2 2920 160L 6.120 89 87 34.2 230 268 250 0.225
1. PIIEBARERBRE:- 1. The above the nominal representative value of the measured value.
2. U EHEEREE  BASTEH - 2. The above mentioned value subject to change without notice.

& LUMING M4



FABMOTOR INDUCTION MOTOR SERIES
EC JE2 J5K % BE ) 1%

MODEL : AEVF

1702 #E 522 Vertical Standard Motor

F._ DHTap
ar
L (al
< C AD
LB O 0
=T NTA AE
2D
| 7 3\ @
| v\ T
= | |JED o
Q = =— Z|a < ]
= ==— s|s s ,
9 o E o
= — @ KK Hole N
LA LA 4-¢S Holes
F F
T DHTap T PHTa
L A L o (X
LB o {&)o AD LB NN AD
b |T P AE LD |T oD AE
D
Ya = o m ° Y a
—— == Y == N == o
JLIETE =2, 2 2l :
4 +—r= = — Y I s i [ S o o
s = L= E o — <\ E &
B el @KK Hole ¥ i 2KK Hole v
- LA 4-9'S Holes LA 4- ¢S Holes
unit: mm
B Output (HP) | 1ES% | EISR L3R~ Mounted Size
Frame |Figure| AC LD
NO
1/4 14 | - 1315 103 2455 2225 130 110 160
1/2 1/2 | 1/4 71 1 156 131.5 105 - 22 271 10 241.5 85 130 110 160 10 3.5
1 1 112 80 2 175 | 146.5 118 - 22 | 274 12 234 64 165 130 | 200 12 3.5
2~3 2 1 90L 3 196 | 156.5 128 - 22 | 367 11 317 120 165 | 130 | 200 12 3.5
- 3 2 | 100L 2 219 173 145 144 | 28 | 373 15 313 92 215 180 | 250 | 13.5 4
5 5 3 | 112M 3 234 182 154 150 | 28 | 425 16 365 154 215 180 | 250 | 13.5 4
7510/ 75| 5 | 1328 2 274 | 226 180 169 | 35 | 450 20 372 102 | 265 | 230 | 300 | 14.5 4
- 10 | 7.5 | 132M 2 274 | 226 180 169 | 35 | 489 20 408 118 | 265 | 230 | 300 | 18.5 4
15~20| 15 | 10 | 160M 4 334 | 262 218 216 | 35 | 602 20 496 153 | 300 | 250 | 350 | 18.5 5
25 20 | 15 | 160L 4 334 262 218 216 | 35 | 648 20 541 175 300 | 250 | 350 | 18.5 5
)% End of Shaft @1 & Bearings B2
D0 | E | ED | 6 | GA [ DH | BHEikLS. |RAHRKO.S.| Weight (kg)
11 23 20 4 8.5 12.5 M4x8 620122 620122 10
14 30 25 ) 1 16 M5x10 620322 620227 12
19 40 35 6 15.5 21.5 M6x12 620422 620322 15
24 50 45 8 20 27 M8x16 620527 62042z 24
28 60 55 8 24 31 M10x20 620622 620522 31
28 60 55 8 24 31 M10x20 6306Z2Z 630527 41
38 80 75 10 33 41 M12x24 630827 6306Z2Z 64
38 80 75 10 33 41 M12x24 630827 6306272 76
42 110 105 12 37 45 M16x32 630927 63072Z 118
42 110 105 12 37 45 M16x32 630927 63072z 136

1. ODEBERE D" A% ' 011~028: j6 * @38~D48: k6 °
2.5 BEE"N" AE h7 -
3. BEHRE3%

4. D EHENEE

C MASITEA

1.Shaft dia"D" clearance:

2.Guidance dia"N" clearance: h7.
3.Weight error of 3 %.
4.The above mentioned value subject to change without notice.

D11~028: j6 > F38~D48: k6.

M5



EEXEEZEE FABMOTOR INDUCTION MOTOR SERIES

MODEL : AEEF

EATUIZ# F5 % Horizontal Standard Motor

F DH Tap F_ DH Tap
T T
.| < 1
< AD
o )
o (¥ AD NTA AC
LoD oD

/

g
[
B
HC

~
—
FH
LT
.
L)
18 m
~|
N
2

1
U

= /& f 4E
7_L = w7 &y : : Tjw : B
i i I] % Ol 1| .~'rw—j‘%m‘ II_ I*’ 'lb 2 iyl
1 ¥ i IAE | AA
LE B JlclE ®KK Hole AE pf\AL LE BBB c ?KK Hole 1. y
BB 4-¢S Holes AB 4-?S Holes AB
F_ DHTa
<
CINI A AD
oD AC
-——E O
ED Wiy
[a] = o =
] T ==
T w7
: Irf >
c BKK Hole AE JA/W
§i$ﬁolei/ AB

&L Output (HP) | 1E5% | E5% #%—E‘I Mounted Slze
Frame |Figure| AA AC HC
NO. | NO.

1/4 174 | - 63 1 120 | 145 | 128 101 136 100
1/2 12 1 1/4 ] 71 1 38 140 | 156 | 130 105 115 10 148 - 63 22 112 90 45 71 7
1 1 12| 80 2 435 | 155 |176.5| 143 | 115 | 130 | 10 |167.5| - 57 22 125100 | 50 | 80 | 10
23 |2 1 90L 3 35 | 170 | 207 | 163 | 135 | 150 | 12,5 | 188 - 66 22 |140|125| 56 | 90 | 10
- 3 | 2 | 100L 2 46 | 195 |221.5| 176 | 148 | 175 | 14 - 244 | 68 28 160|140 | 63 | 100 | 12
5 5| 3 | 112M 3 48 | 226 | 239 | 186 | 158 | 175 | 141 = 266 | 82 28 190|140 | 70 | 112 | 12
7510, 75| 5 | 1328 2 48 | 250 | 272 | 224 | 182 | 175 | 16 - 312 | 82 35 216|140 | 89 | 132 12
- 10 | 7.5 | 132M 2 48 | 250 | 272 | 224 | 182 | 212 | 16 - 312 | 82 35 216|178 | 89 | 132 | 12
15~20| 15 | 10 | 160M 4 52 | 300 | 334 | 262 | 220 | 250 | 18 - 378 | 106 | 35 | 254 210108 | 160 |14.5
25 20 | 15 | 160L 4 52 | 300 | 334 | 262 | 220 | 300 | 18 - 378 | 106 | 34 | 254|254 108 | 160 |14.5

% End of Shaft VS Bearlngs =3
“m Weight (kg)
206 63 1 23 18 4 8.5 12.5 M4x8 6201ZZ 6201ZZ 9
2425 77.5 14 30 24 ® 1 16 M5x10 62032Z 620227 11
2715 91 19 40 25 6 15.5 21.5 M6x12 620422 620322 15
329 98 24 50 45 8 20 27 M8x16 620527 62042z 23
373.5 110.5 28 60 55 8 24 31 M10x20 620622 620522 30
384 114 28 60 55 8 24 31 M10x20 630622 630522 33
448 145 38 80 75 10 33 41 M12x24 630827 6306Z2Z 62
486 145 38 80 75 10 33 41 M12x24 630827 6306272 74
598 180 42 110 105 12 37 45 M16x32 630927 63072Z 118
646 180 42 110 105 12 37 45 M16x32 6309272 630722 140
1. DEER "D" QE  @11~028 | j6 * F38~D48 : kb6 ° 1.Shaft dia"D" clearance: @11~J28: j6 * &38~J48: k6.
2. LENSE "H AE CHGs e 2.Shaft height"H" clearance: H 35
3.EERE3I% 3.Weight error of 3 %.
4. D FHENMBEE - BASTREA - 4.The above mentioned value subject to change without notice.

& LIMING M6



FABMOTOR INDUCTION MOTOR SERIES
EC /B2 [5K 8 BE B 15K

MODEL : ETVF

1720 FEE F5%= Vertical Brake Motors

F
L “TT DHT
LB S R o 2 oI AD
LD | T T AE
oD
& ED) y/ o\ T
7 ED
2 4+ L] - ;,Z o r;’z o 1
S . S = ? | Y ? 9 8§ .
= T # KK Hole v
LA 4-9 S Holes
unit: mm
&4 Output (HP) | &35 | B Z# R~ Mounted Size
Frame |Figure| AC
6P NO. | NO. M N P S

1/4 - 63 1 142 | 1315 | 103 - 22 12575 11 234.5 78 130 | 110 | 160 10 3.5
1/2 1/4 71 1 156 | 131.5 | 105 - 22 | 277 10 | 2475 | 85 130 | 110 | 160 10 3.5
1 1/2 80 2 175 | 146.5 | 118 - 22 | 274 12 252 64 165 | 130 | 200 12 3.5
2 1 90L 2 196 | 156.5 | 128 - 22 | 401 11 333 120 | 165 | 130 | 200 12 3.5
3 2 100L 2 219 | 173 145 | 144 | 28 |386.5| 15 | 3265 | 92 215 | 180 | 250 | 13.5 4
5) 3 112M 2 234 | 182 154 | 150 | 28 | 446 16 386 154 | 215 | 180 | 250 | 13.5 4

EHixL. S. | REHIKO.S.

B8
Weight (kg)

Bii% End of Shaft

M4x8 620122 6201Z2Z 12

M5x10 620322 620227 14
M6x12 620422 620322 19
M8x16 620522 62042z 29
M10x20 620622 620522 36.5
M10x20 6306Z2Z 630527 52

1. DEER D" AZE | 011~028: j6 * F38~D48: k6 ° 1.Shaft dia"D" clearance: @11~@28: j6 * @38~D48: k6.

2. 5| BEE"N" AZE h7 - 2.Guidance dia"N" clearance : h7.

3. EERE3% 3.Weight error of 3 %.

4. D FHENEEE - BASTRA - 4.The above mentioned value subject to change without notice.

M7



EKEXESEHE FABMOTOR INDUCTION MOTOR SERIES

MODEL : ETEF

EATUAIEE 53 Horizontal Brake Motors

'IET DH Ta ~f- DHTa
« /4 « I AD
L UG AD L NN R AC
oD AC ®D
r &— ¢
EQ
TEE ¢ e PN
@ == Iiw ~ &y Iw - Q/
| — I] .0 I IF L )
LE B |lClE ®KK Hole [ AE A’*AL oKK Hole/ L //AE AAAJ
BB 4- ¢S Holes AB 4- 9 S Holes AB
unit: mm
# 4 Output (HP) | 1E%% | B3 | %%~ ~t Mounted Size
4P 6P FrNa(r;e Flr\gl:](l;re AA AB AC AD AE BB HA o (03 HE KK A B c H s
1/4 - 63 1 30 120 | 145 | 123 98 101 85 | 136 - 28 22 [100| 80 | 40 | 63 | 7
1/2 1/4 71 1 38 140 | 156 | 130 | 105 | 115 10 148 - 63 22 |112| 90 | 45 | 71 7
1 1/2 80 1 435 | 155 |[176.5| 143 | 115 | 130 10 |167.5 - 57 22 125,100 | 50 | 80 | 10
2 1 90L 1 35 170 | 207 | 163 | 135 | 150 | 12.5 | 188 - 66 22 |140|125| 56 | 90 | 10
3 2 100L 2 46 195 1221.5| 176 | 148 | 175 14 - 244 68 28 160140 | 63 | 100 | 12
5 3 112M 2 48 226 | 239 | 186 | 158 | 175 14 - 266 82 28 |190|140| 70 | 112 | 12
8
B#HIEL.S. | REHIKO.S.| Weight (kg)
218 75 11 23 18 4 8.5 12.5 M4x8 6201Z2Z 6201Z2Z 1
248.5 83.5 14 30 24 5 1 16 M5x10 6203272 6202727 13
289.5 100 19 40 25 6 15.5 21.5 M6x12 620422 6203z2Z 19
345 114 24 50 45 8 20 27 M8x16 620522 620422 27
3387 124 28 60 55 8 24 31 M10x20 620622 620522 35.5
405 135 28 60 55 8 24 31 M10x20 6306Z2Z 630522 44
1. OB "D" AZ  O11~028: j6 * @38~D48: k6 ° 1.Shaft dia"D" clearance: @11~@28: j6 * @38~@48: k6.
2. DBEE "H AZE HGs e 2.Shaft height"H" clearance: H '35
3. EEREI% ° 3.Weight error of 3 %.
4. Y EHENEEE - BRABTEAM - 4.The above mentioned value subject to change without notice.

& LMING M8



